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Guía de ejercicios de EC. 1er grado
[image: image1.jpg]P R S e L I < T =
S W ® NS U e RN =O

© 0 N e N A N R

Xx+3=5

. 2x-5=7 e
5-2x=x+2 22.
. 2y+1=3y+4 23
62-3=5+2z .

4x-5+x=3+2x+4

L 442x—x=-3x—4 26
. —y+5y-3+4=y-1 27
. y+2=5y-4+3y-1 28
.4y +9-y-2y=16y+42 29
L 17y-y+9=32-19y + 82 30.
. 45x—33x + 19 = 25x + 17 31
. z-12+44z=18-152 32.
. 132x+25-33x=-10-x+85 oo

. 49x — 105 + 16x = 48x - 301 - 8

. 405x — 203 + 45x = 102 + 115

. 182-42+152=10z-3 + 32z - 39

. 113x + 16 - 14x =- 12 + 27x + 19

. 15x - 135 + 18x =45 + 90 — 18x + 15x
. 339x + 25 =5 + 309x + 20

L2(x+3)=5(kx-1)

(2x-5)2=(3+x)5

Cx+2)-Bx+2)=5x+4)+1

51-x)+x-3)4=x-1)-(1-%)

L 2[Bx+ 1) -2 (x+4)]-(Bx+5)=0

L 2x-3-(x+1)=—[x+3(x+2)] - (x+4)
L -3+x-5[2x+4)-x+2)]=x+2

. 2x-10-[2x- (x+3) +5] =0

- -[22-y-02y-3)] -Sy=4(+3)

3-[5y+2(y-1) +4] =5-[2 (y-3) -3 (y-2)]
-x+[12x-3 (x+ 1) - (3x +2)] = 15x - 16
2x - [14x -2 (x +3) - (2x + 3)] = 16x + 9
-[23x-3)-(1+x]-[563-2x) - (1+x)]=0




Ecuaciones de 1er grado con coeficientes fraccionarios
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